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O 41x4+4+3=16.7 @ 41x3+4=16.7
® 41x4+4+03=16.7 @ 4.1%x3+40.03=16.7

® 41x04+0.3=16.7
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D 6900a, 69m?
® 850ha, 8.5a

® 4a, 40 m?

@ 5km?, 500000 m?

@ 780000m?, 78 ha
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@ 330a=3.3ha @ 20ha = 0.2km?
@ 540000 m2 = 54 ha @ 6.1ha = 6100 m?

® 1.7km? = 17000 a
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@ 0.9ha=[ |m? @ 600m2 =] Ja
® 1.7t =] kg @ 80000kg = |t

® 60ha=[ |a
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D 4m = 400 cm

@ 70000 cm? = 7m?
® 12m2 = 12000 cm?
® 630000 cm? = 63 m?

@ 480000 cm? = 48 m?
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300g - @kg
58t =Qkg=®@g
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@ 6t = 6000000g
® 120000g = 1200kg

® 7000g = Tk

@ 500kg = 04t

@ 0.03kg=30g
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@ 8000g = 8kg
® 1300kg = 1.3t

® 5630000g = 5630 kg

@ 0.4t =400kg

@ 017t =170g



@ 56000000g = 56t

@ 380000¢g + 0.063t = 443 kg
® 3.5t +820kg = 1170kg

@ 0.7t 2 70g 2] 10000 BioJT},

® 380kg + 4200 g = 380.42kg
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@® 72.96 + 27 @ 729.6 + 27 ® 7296 + 270

@ 7.296 + 27 ® 72.96 +0.27



D 20.088 + 64.8

@ 2008.8 + 6.48

@ 20.088 + 6.48

® 2.0088 + 0.648

® 20088 + 648
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10.56 + 26.4

@® 1056 + 264 @ 105.6 +26.4 ® 1.056 + 2.64

@ 10.56 + 2.64 ® 0.1056 + 2640
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D 160.36 ~ 76
® 1603.6 ~ 760

® 0.16036 + 0.076

@ 1.6036 +0.76

@ 1603.6 ~ 7.6
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@ 300a = 3m?
@ 2030m? = 20.3a

® 770a="T7ha

@ 9km?2 = 90000 ha

@ 43ha = 4300 m?
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@ 350m? = 35a @ 5.6km? = 5600 m?
® 3700a = 3.7ha @ 17t = 1700kg

® 23000000g = 23t
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@® 240a=2.4ha @ 170000m? = 17a
® 0.2km? =20 ha @ 5.9ha = 59000 m?

® 35000a = 3.5km?
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@ 24000m?2 = 2.4ha @ 150a =1.5ha
® 0.3km? = 3ha @ 24000a = 2.4 km?

® 3.6ha = 36000 m?



